SAP ABAP table /DSD/HH RADELCD S {Structure Outbound Delivery Conditions}

“DSD_HH_RACVHD
/DSD/HH RADELCD S-VISIT ID = /DSD/HH RACVHD-VISIT ID

CLIENT [CLNT (3)]
R 0.N [ TOUR_ID [CHAR (32)]

-7 VISIT_ID [NUMC (6)]

- _DSD_HH_RADELHD

-7 CLIENT [CLNT (3)]

.~ /DSD/HH RADELCD S-HH DELVRY = /DSD/HH RADELHD-HH _DELVRY HOURSDIICEA R G2)]
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-7 HH_DELVRY [CHAR (35)]

- _DSD_HH_RAHD

/DSD/HH_RADELCD_S-TOUR_ID = /DSD/HH_RAHD-TOUR ID = _ TN CLIENT [CLNT (3)]

______________________________ TOUR_ID [CHAR (32)]

______________________________________ TOO0O
MANDT [CLNT (3)]

T -l T685
T Tt MANDT [CLNT (3)]

/DSD/HH RADELCD_ S-CURR = TCURC-WAERS 0..N | KVEWE [CHAR (1)]

KAPPL [CHAR (2)]
- KSCHL [CHAR (4)]

Tt~ TCURC
--------------- MANDT [CLNT (3)]
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